AN ROINTN OIDEACHATIS G.319
BRAINSE A N GHAIRMOIDEACHATS

CERTIFICATE EXAMINATION FOR DAY VOCATIONAT COURSES, 1967

MATHEMATICS

THURSDAY, 15th JUNE—10 a.m. to 1 pems

INSTRUCTIORS

2a Attempt question 1 and plx others.
b) The marks sllotted to each question are shown in brackets,
(c) Mathematlical Tables and:fg in.,graph paper are supplieds

Ed; Specinl credlt will be gilven to candidates who display neatness and order in answering.
e) All the work must be shown in the answer book,

1., (a) Simplify (1) (6&)% s (2) 11° 3 (3) %:? .

(b) Four similar smaller castings are the same welight as three gimilar larger castings,
Calculate the weight of a emaller casting if all 7 welgh 12 1lbs,
(c) Simplify (20 — b)? = a(3a + b) + 3ab,.

(4) Write the correct number in place of "n" in each of the following :—
(1) 225,000,000 = 2:25 x 10",
(11) -0001 = 1+0 x 107,
(e) The sum of two numbers 1s to be subtracted from their product, Using # and y for

the numbers and A for the result, construct a formule for thls operation., Find
Awhen z =5 and y = 6,

(20 marks)
- 3
2. (a) Simpliry 2% g x 13 . os3 .
1§ + 83 + 2%
2{g? — =3 a_+ 8(a® + oz + 2?)
b)) Simpli 32{a> - _22) x z 4 p
(b) Simplify <= 1= a -z a® + a®
(12 marks)

3, (a) Prove that the sum of the 3 angles of any triangle 1s equal to 180°,

S

o (o=
-

(b) In the sbove figure the Engle DAB 18 & right angle and the angle ABC 1s twice
a? large as the angle ACB, Calculate the number of degrees in the angle
ACB,

(12 marks)
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(a) Evalunte, using logarithms —

( 2668 x 0-5213
312
’ 3
(b) If a =b= %—-then log @ == eecsesscve

(¢) If log 3 =m and log 5 = n write down the logarithms of 15,
f dn
terma of m an . (12 —

Lie

6 and 75 in

5, There are 350 children enrolled in a school, Draw a graph which will enable you to
express the number of children present as a percentage of the total enrolment.

Find from your graph —

(1) the percentage attendance when 275 children are present,
(11) the number of children present on a day of 92% attendance,

and(111i) which corresponds to the better attendance, 325 children, or 96% .
(12 marks)

6, (n) If the volume of a right clircular cylinder is 704 c.c, and the perpendicular heirht
is 1l cme, what is the diemeter of the base ? (Take 7 = 3%).

(b) Calculate the total surface area of the above cylinder,

(12 marks)
7. Solve the equationsi—
(1) (5z = 19)(x + 2) = (3= + 1)(3z = 2)
(1) z+2y +8=0
Zx—-y +3=0
(111) 3z? — 10x — 8 = 0, (14 msrks)
Show that:—

8, (=) In the AABC the angles ABC and BAC are 90° and o respectively.
(1) sin®x + cosZq =1,
(11) Bin& = tony

coBX

(b) If in the triangle ABC, the angle B = 90°and 8inC =% , find without using

tables cosC, tanC and the area of the triangle ABC,
(14 marks)

9, Factorlze the following:—
(a) Lz® — 6ay.
(b) 3az + 3bx — Lay — Lyb.
(c) 6a? — Tax — 322,
(a) 8xz® + 277,
(e) a® — 2ab + b? — %,

(14 marks)

10, On -L inch graph paper, plot the four points A, B, C, D whose co—ordinates are A(2,3),

1
B(8,12), czo,g) and D(12,0), Join AB and CD,
write down the co—ordinates of the point of intersection of AB and CD.
equations of the lines AB and CD in the form i = mx + c.

Find the

(14 marks)



